10 9 8 7 6 5 4 3 2 1

M12 4 POLE | M12 5 POLE | M12 8 POLE | M12 12 POLE
FEMALE FEMALE FEMALE FEMALE

VIEW FROM THE FRONT SIDE

VIEW FROM THE FRONT SIDE VIEW FROM THE FRONT SIDE

VIEW FROM THE FRONT SIDE

Pin

Pin

Pin

Kolor przewodu

Pin | Kolor przewodu Kolor przewodu Kolor przewodu
1 |BROWN BN 1 [BROWN BN 1 [WHITE WH 1 [WHITE WH
2 [WHITE WH 2 |WHITE WH 2 |BROWN BN 2 |BROWN BN
3 [BLUE BU 3 |BLUE BU 3 |GREEN GN 3 |GREEN GN
4 |BLACK BK 4 |BLACK BK 4 |YELLOW YE 4 [YELLOW YE
5 |GREY GY 5 |GREY GY 5 |GREY GY
6 |PINK PK 6 |PINK PK
7 |BLUE BU 7 |BLUE BU
8 |RED RD 8 |RED RD
9 |BLACK BK
10 | VIOLET VT
11 | GREY/PINK GY/PK
SVV 19 - 12 | RED/BLUE RD/BU
14.2 0]
D 14.1 215 L+10 SW 17
- |
A |
TN A — et AN !
$s ) -
S - / SO\ 2 ) © %
- 8 T4 "’@)@@ 3 | © © S
© NP K\%}/’ /) = L (( | ©
N LU e 1 \/
TANG S 3 =N 8 Y
Y 2 4 o
PANEL CUT OUT VIEW FROM THE FRONT SIDE 7/ ® VIEW FROM THE WIRES SIDE
BILL OF MATERIALS
8 - POTTING MATERIAL WEVO -
7 1 LOCKNUT M16x1.5 BRASS Ni
6 1 O-RING BK NBR - THIS DRAWING CONTAINS INFORMATION THAT 1S PROPRIETARY TO MOLEX ELECTRONIC TECHNOLOGIES, LLC AND SHOULD NOT BE USED WITHOUT WRITTEN PERMISSION
5 1 GASKET RD EPM - D'ME::']O#;N'TS SQCAL']E CURRENT REV DESC: OBSOLETED PART NUMBERS olex
4 1 SHELL M12x1 M16x1.5 BRASS/STAINLESS STEEL | Ni/- O UNLESS SPEGIHIED)
3 1 INSERT 4/5/8/12P FE AC ELASTOLLAN - T - REC M12XP AC FE PVC XM M16 BM
2 |4/5/8/12| CONTACT FEMALE BRASS AU orocss oo aon 2uzi0Gcz SRODUCT CUSTONER DRAWING
1 - WI RE 20/22/24/26 AWG UL1 569 PVC - TPLAGE N 0 INITIAL REVISION: DOCUMENT NUMBER DOC TYPE[DOC PART[REVISION
DRWN: KKALICIAK 2016/09/27
ITEM|QTY. |DESCRIPTION MATERIAL FINISH orvees | oo eor maseeno vz 1200648135 [PSp} 00| AS
DOCUMENT STATUS| P1 | RELEASE DATE | 2021/06/02 _ 05:45:55 | TN ONENSIONS © =1 |A3-SIZE| 120084 | SEESHEET2 | GENERALMARKET | 10F2
9 8 7 6 5 4 3 2 1




10 9 8 7 6 5 4 3 2 1

ENGINEERING No. - NUMERICAL CODE (Available parts see PART LIST table. Others parts available upon request)

\OPTIONS
| | | | | | | | | | | | | |
| | | | |
_ Poles: Wires Units: Length Shell Material
WR=U1ZREC | | 4 2% Poles Shell Type E01 = 26AWG PVC M = Meters Examples: blank, 3 = Brass
5 =5 Poles E02 = 24AWG PVC C = Centimeters| | 005 = 0.5 unit | |8 = Stainless Steel
8 = 8 Poles EO03 = 22AWG PVC 010 =1 unit
C =12 Poles EO04 = 20AWG PVC 100 = 10 units
PART LIST
Molex PN Engineering No. L [mm]
1200848135 | WR4U40E04C3003 | 300
1200845097 | WR8U40E02C300 |300
1200848069 | WRBU40E02C500 |500
1200848059 | WR8U40E02M010 |1000
1200845016 | WRCU40E01C200 |200
1 20084501 7 WRCU4OEO1 C3OO 300 l:ﬂl;[za::vmﬁgomsﬁgriwFOSSQEZNNIHI:;/SSEQ:ETBASR(;(LTSTI\I;(E)LEX;LTE;LRIZ)SIECRTSECHN0L0G|Es, LLC AND SHOULD NOT BE USED WITHOUT WRITTEN PERMISSION
1200848058 | WRCU40E01MO010 | 1000 mm | q:q |ASPERECNSIE mOIex
1200845038 | WR4U40E03C3003 | 300 " Uness peciieo)
ANGULARTOL & 10° , REC M12 XP AC FE PVC XM M16 BM
1200845160 | WR5U40E03C3003 | 300 EONO: 662770 ——
1200848180 | WR5U40E03M0103 [ 1000 cruces | oo oo O PRODUGT GUSTOMER DRAWING
12008481 92 WR5U4OEO3CBOO 300 T PLACE N 03 INITIAL REVISION DOCUMENT NUMBER DOC TYPE| DOC PART|REVISION
1200848219 | WR4U40E03C650 | 650 orvers | ve upon. wmisecao  ovwons| 1200848135 [psol 000 A
DOCUMENT STATUS| P1 | RELEASE DATE | 2021/06/02  05:45:55 | s @ =1 |A3-SIZE| 120084 | SEE PART LIST | GENERAL MARKET | 2 OF 2

RevsON 9 8 7 6 5 4 3 2 1




| ‘

A/F (SW) 19/ 0210

M 16x15
i [
T 7 Y Y e A/F (SW) 17/ 9180
’ ’ |
H |
L H
-
- LENGTH /Ldnge
————
(SEE CHART / siehe Tabelle)
——— 5

Rev E1 2012/01/25

Allgemeine Kennwerte Norm
General Characteristics Standard
Polzahl/Number of Contacts W‘R‘NG D‘AGRAMM
Kontaktanordnung/ Confact configuration IEC 947-5-2 12
— WH -~ White CUTOUT
Bemessungsspannung/ Rated Voltage IEC 664 30V AC / DC 11 ]
BN - Brown 0
2 ®16,50
Verschmutzungsgrad/ Pollution Degree IEC 664 3 3_ GN - Green -0.20
Befriebsstrom/ Current carrying capacity IEC 512-3 15 A 7| YE - Yellow
Test 5b 5— GY - Grey
Durchgangswiderstand/ Contact Resistance EC T5122/;2 < 5 mOhm 6_ PK - Pink
es
Bemessungsstofspannung/ Rated Impulse 7_ BU - Blue ’
Withstand Voltage IEC 664 2KV 8_ RD - Red 4
5 |LBK - Black
IEC 60512-2 S
Prufspannung/ Test Volfage Tost LA 1kV / 60 sec % VT - Violett 1580 820
Isolationswiderstand/ Insulation Resistance IEC 512-2 ~ 10 GOhm 7 GYPK - Grey/Pink ’
Test 3A - ROBU - Red/Blue
|IP - Schutzart/ IP Degree of Protfection [EC 529 P &7 ﬁ
Stift Durchmesser/ Pin Diameter 0.6 mm
Temperaturbereich/ Temperature Range ICE 60668-1 -25°C/ +90 °C PN Engineering NQ. | L= Length
200
Mechanische Lebensdauer/ Mechanical Operation 100 Steckzyklen/ 1200845016 | WRCU4OEOTC200 mm
Mating Cycles 1200845017 | WRCU40EO01C300| 300 mm
AnschluBart/ Termination Crimp % % g QUALITY GENERAL TOLERANCES DIMENSION STYLE SCALE DESIGN UNITS
Brennbarkeil/ Flammabiliy Z 22| |sympoLs| (UNLESS SPECIFIED) MM ONLY 2:1 METRIC ¢
- = — e - - DRAWN BY DATE TITLE
Kontakttrager/ Insert V-0 FArS== mm INCH
uL 9 LGNS| W-0 [ZPLAGES[E—- |+-— RSCHIEBER  2013/09/09 REC U12 12P AC FE XM
Kabel/ Cable VDE 0472 / 804 6 C‘> E 3 PLACES|+ ——- +—-—- CHECKED BY DATE M/]6 BM WlR UNSH BRA AU
~ &5 x . — —
Werkstaff/ Materials m S % x| ; =0 2 PLACES|=0.05 |£-——— APOHL 2013709/09
Kontakte/Contacts Copper Alloy [m)] § é % % 8 1 PLACE |01 t--- éEDRROGVE; BY ZOD%T/EOQ/ 0 m I x
Kontaktoberflache/Contact plating AU/Ni X L= 0 PLACE |£1 - Sl L . Q g
Kontakttrdager/ Dielectric Matferial PA 6.6 E % % @ % ANGULAR £ 1T ©° : : SHEET NO.
Dichtung/ Gasket (O Ring) R Z  ETa DRAFT WHERE APPLICABLE| SEE TABLE SD-120084-077 1 QF 1
Wuoo=t MUST REMAIN SIZE| THIS DRAWING CONTAINS INFORMATION THAT IS PROPRIETARY TO MOLEX
Genause/ Hovsing Cozn forassl N Pioted 1 2 WITHIN DIMENSIONS INCORPORATED AND SHOULD NOT BE USED WITHOUT WRITTEN PERMISSION
tbh_frame_A4_P_AM_T
6 5 4 3 2 1




